

www.szzx100.com 江南汇教育网


[image: image1.jpg]20182019 34 35 = S NS A TR B AR
— B 201904
#2808, A 130 7. AN 120

EawE
T AR, R N KA,
o4,
Fipd. BOY, FRTIATAFHEMSHAT L

2 BAM, FLBSIFFR.
3. BRLUI 0 m RAEAEFLEAFQEMEN L L, TESHLRANER—

LR, REARREEL,
4 AAFERLMATAE L, B ELERERILE LR
— R CRAMR 00, B35, 308, EHNBREANTRES, AE—

ARTARBIR, BENEERESEFEEONE L

Ly
18 lz) 7
1 i
A. p B4 c. *; n. —4
2. FRENERNE
A (CaY=—a' B, @w=a® ¢ (—aBP=d'  D. 3 +3a*
3. FFR a2 MRS
A x>0 B. x<—2 €. 2 D. x<2
4. FABEAREEEHANR
A P21 B 1668 H € 901204 D. Xty 4

5. 9 Gatb)—3a—H) BT
A 9a—6ab—b B, —BGab9a" C. hoa"
6 a-»wst’*T 2 s e

A 0 o6t
7. Wa=(—0.1)", b=(—0.1)", F(—ﬁJV + Bla, b
= v
A a>b>e B. c>a>h C. >b>a

W% B1H e




[image: image2.png]8. #(H3)x—m)=2x"+m—15, W

A m=—ln=5 B m=lm=—5  C. m=—Ln=—5 D. m=lu=s

9. CURICRD g “SAIKE, NIE, FRIE, Ak, FRZ, WA, %
L2 " IR SAGKIER, FOEAL S8, 7% 45 8 iss)\mng,

%38 HEKAM FRELED? REKABRXA, £0hy %, UEEE, L] 4
HEAN

yoSas o [y=setas o [=ses
y=Txt3 © =13 " =13

10, Fx—y=2, Xtyi=4, 040

A 4 B. 2020° (el D.
S S (RKMEA A, BIMEIS, #2459, WEERAE

1. —FRARBF AL 0.00 003 MK, ¥l 0.00 003 FFHE i Bk R A,
12. EAMM: x—x=_a .

13, BN +ax + OR—AFEAN AR, WM
14. 2 Grtay—1)+[2y—x—5|=0, 1 2x-+y Ml

i

Is. BRIa"=3, a'=2, Wa*""MliN_A .




[image: image3.png]@ (a2’

20, (SRS S
e FAARARER

m x*=81

22. (AMI SH)
WAL S A e LRI

1=+ x4 +H820



[image: image4.jpg]24. (AABWGS 6 97)
2018 £F R At G B 22
AN FE 1T 4R 0 S fic B 800 4% NIEITE A AR I I %, i }ﬁlbﬁk,”f}’wﬁ, =

a s sk B D ey TR I8 DN P 1 E th /N < /_--—'Ea.
(172, T 2019 GENEIREE 432 T30, Wi 80 AL EAT MR . ALE 1760 IR EAT

] st g 40
e (447 25 A% B0 AU . T O B 200 JI1JG> 73 il
g a3k

i 4 O 0 R A S 4 17 25 AORE L 803 B R 2 T

25. (& 6 1)
x 22 g
) , y BT :
BEkT x, y AR H{x+y=5—|-2a
(1) RAFERANE (HE a FREERS);

2) #x>y, KaKWBETEHE.



[image: image5.jpg]26. (AR5 8 47)
p= 1, R A .

£ X _\‘?’iiﬁlﬂ.\*fl\'*?,- X

1) (x—2y) 2) x*416y" (3) x*+8y’

27. (K& 8 )

MEL T HFA: 31—30=2X%30,
32—31=9 X 31,
33—32:2><32’

(1) REHFEn NFER, FRHEn HFEXBOLHEH;
2) it& 30+31+32+...+32018+32019 (AR



[image: image6.jpg]28. (AR 9 97)
UR 20t 2R (S k2)( +H5xH3) 12 Sk RV L% K LIE2UE Pazive

O AN B R AN, R R (RHRI), 057 2t 1 R 1 24k« W BAAE. ARG
ARE, Bk, ZouiiRss.
T (P 4HS5x2)(x* H5x+3)—12 .
B WxSx=y,
W ER =(1H2)H3)—12=y*+5y—6=(y1+6)(y1)
—(*+5x+6)(x> +5x—)=(x+2)(x H3)(x*+5x1) -
. WX’ +H5xt2=y,
M E R =y(H)—12=y* Hy—12=(y+4)(ry3)
:{xz+5x+6)(x2+5x——1)'—‘j(x+2)(x+3)(x2+5x—l) .
ZE—. % x+2=m5x=n,
| JE 2 =(mn )(m+n+1)—12:{m+n)2 H(mn)-12=(mtnt4)(mtn -'\3)
=‘{x2+5x+6)(x2+5x—l)=(x+2)(x+3)(x2+5x—1) .

e I
(1) (F+x—4X Y+x+3)+10;

2) (xt1 )(x+2)(x+3)(x+6)+x2;

3) (x+y’2xy)(x+y-2)+(xy‘"l)2-






